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FSK &(t) = cosl(, + @y )t +6) &(t) = cosl(@, — @y )t +6)
e(t) = cosw,tcos(w t + 0) —sinwtsin(w t + )

e(t) = cosw,tcos(w t +0) +Snaoytsin(o t +6)

et) = Re[cosa)dt e/ L jsine,t - ej(”0‘+9)]

et) = Re[cosa)dt e/ _idna,t - ej(“’ct+9)]
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FSK

e (t) = cosat = Re[e'™]
e (t) = Acos(at + 8) = Reg[ Ae' "] = Re[ Ae'’e!”] = Re[Ve'™]

V = Ae’?

& (t) = sinwt = Re[— je!]

&,(t) + &,(t) = coswt +sinat = /2 cos(et —%) _ Re[el — jei] = Re[(1— j)e}]




FSK

e (t) = coswt = Re[e'”] e(t) =sinwt = Re[— je!']
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V=I+jQ

e(t) = cos((w, + w, )t) = cos(@ t + w,t)
e(t) = cos((w, — @, )t) = cos(w t — w,t)

e(t) = cosw,tcosw t —sinwtsine t
e(t) = coswytcosw t +Sinwytsine t

e(t) = Rejcosawt -

e(t) = Rejcosawt -

e'” + jsinw,t
e!”| — jsinm,t
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V, = Voej“’ctej‘g(1+ge"“’pt +gej“’ptj V, =V0e""’°te"9{J0(,B) + i J. (,8)(e‘mpt +(=D"e " )}
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EF - 3,(B)e ~e ' )= 3,(8)-2jsno
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